- 1 14 Packs of Artex Plaster Moulding £10.00 £20.00
- 2 A Quantity of Advertising Breweriana £10.00 £20.00
- 3 Quantity of Decorative Jugs etc. £10.00 £20.00
- 4 A Shelf Of Christmas Decorations £15.00 £20.00
- 5 A Quantity Of Old Dolls etc. £15.00 £20.00
- 6 A Vintage Bedroom/bathroom Chair £10.00 £20.00
- 7 4 Chamber Pots £10.00 £20.00
- 8 An Epson Printer, LG Dvd Player, ITT Video Recorder etc. £10.00 - £20.00
- 9 A Shelf Of Misc. Items inc. Wall Lamp, Companion Set etc. £10.00 - £20.00
- 10 A Quantity Of Records and 8 Tracks £10.00 £20.00
- 11 A Dirt Devil Handy In Box £20.00 £30.00
- 12 3 Advertising Breweriana Ice Buckets And 1 Other £10.00 - £20.00
- 13 A Cased Torq Laser Level, Multi Tool And Work Belt £10.00 - £20.00
- 14 2 Shelves Of Lighting (Mainly Outdoors) £20.00 -£30.00
- 15 A Shelf Of Pick Axe Heads, Tools, Spring Clamps etc. £10.00 £20.00
- 16 2 Shelves Of Tools, Inc. DeWalt Drill, Record Quick Vice etc. £10.00 - £20.00
- 17 2 Shelves Of Decorating Items Inc. Tile Cutters etc. £10.00 - £20.00
- 18 A Quantity of Garden Items and Large Selection Of Wall Brackets £15.00 - £20.00
- 19 2 Shelves Of Electrical Fittings etc. £10.00 £20.00
- 20 A Rotary Head Laser, Sander and Planer £10.00 £20.00
- 21 A Large Quantity Of Nails, Nuts And Bolts Etc. £10.00 - £20.00
- 22 Block And Tackle £10.00 £20.00
- 23 2 Whatnots £10.00 £20.00
- 24 Husquarna K650 Disc Cutter £10.00 £20.00
- 25 A Selection Of Power Tools £10.00 £20.00
- 26 A Battery Charger, Jump Leads, Socket Sets Etc. £10.00 - £20.00
- 27 3 Tool Boxes And Contents £10.00 £20.00
- 28 A DeWalt Drill £10.00 £20.00
- 29 4 Stilsons And A Plumbers Pipe Bender £10.00 -£20.00
- 30 Stanley Planes, Box Of Leitz Cutter Heads etc. £10.00 - £20.00

- 31 2 Good Quality Grips/Clamps/Vices £10.00 -£20.00
- 32 2 Shelves Of Plastering Items Inc. An Aluminium Hawk And Knee Pad, etc. £10.00 - £20.00
- 33 A Vintage Heater And A Kettle £10.00 £20.00
- 34 A Laser Theodolite £10.00 £20.00
- 35 3 Vintage Lamps/Lanterns £10.00 £20.00
- 36 2 Good Quality Vices And 2 G Clamps £10.00 -£20.00
- 37 2 Shelves Of Door Furnishings etc. £10.00 £20.00
- 38 A Good Lot Of Brass And Copper £10.00 £20.00
- 39 A Firescreen, Vintage Wall Lamp Etc. £10.00 -£20.00
- 40 3 Shelves Of Electrical Transformers, Extension Leads, Etc. £10.00 - £20.00
- 41 Portable Laser And 2 Tool Boxes (No Contents) £10.00 - £20.00
- 42 2 Shelves Of Nails And Raw Plugs etc. £10.00 -£20.00
- 43 2 Vintage Stools And A Magazine Rack £10.00 -£20.00
- 44 Quantity Of Glassware Inc. Darlington £10.00 £20.00
- 45 A Fountain Pump, Powerjet Pump, Water Pump, New Hose Etc. £10.00 - £20.00
- 46 A Shelf Of Vintage Telephones £10.00 £20.00
- 47 2 Jerry Cans, 2 Fuel Cans, An American Fuel Can And 1 Other £10.00 - £20.00
- 48 A Good Lot Of Outdoor Lighting £10.00 £20.00
- 49 A Shelf Of Vintage Telephones £10.00 £20.00
- 50 A Sinclair ZX Spectrum, Commodore, Games Etc. £10.00 - £20.00
- 51 A Quantity Of Cups And Saucers £10.00 £20.00
- 52 3 Shelves Of Assorted Tools Inc Power Devil Router £10.00 - £20.00
- 53 A Good Selection Of Garden Tools, Inc. Bolt Cutter etc. £10.00 - £20.00
- 54 Quantity Of Long Clamps And Crowbars £10.00 £20.00
- 55 Quantity Of Garden Tools, Inc. Hole Diggers And Large Post Hammer £10.00 - £20.00
- 56 A Large Board With Rail Track £10.00 £20.00
- 57 A 2 Ton Hydraulic Service Jack £10.00 £20.00
- 58 Hitachi Chopsaw £10.00 £20.00
- 59 A Roll Of Temporary Fencing And A Fork And Spade £10.00 - £20.00
- 60 A Pine Chest And Quantity Of Racking And Bins For Storage £10.00 - £20.00
- 61 A Powercraft Router £10.00 £20.00

- 62 A Painted Wooden Wall Shelf £10.00 £20.00
- 63 A Garden Chair, 2 Seat Pads And A Steamer Type Chair Etc. £10.00 - £20.00
- 64 A Tool Chest, Wooden Crate And Quantity Of Tools £10.00 - £20.00
- 65 A Quantity Of Floor And Wall Tiles, Inc. Mirror Ones £10.00 - £20.00
- 66 A Large Tool Chest And Contents Inc. Set Squares £10.00 - £20.00
- 67 A Vintage Commode £10.00 £20.00
- A New (Assembled From Box Here) Metal Framed
  3 Seater Patio Swing With Instructions Etc.
  £10.00 £20.00
- 69 A Workbench And 2 Tool Boxes With Contents £10.00 - £20.00
- 70 An Outback Gas Barbecue £10.00 £20.00
- 70A A good quantity of tools including Stanley planes and Marples chisels £10.00 - £20.00
- 70B A DeWalt drill and a Mikita belt sander £10.00 £20.00
- 70C A large lot of assorted tools £10.00 £20.00
- 70D An Erbauer cased drill with batteries, charger etc. £10.00 - £20.00
- 70E A box of tools including vice, drill etc. £10.00 £20.00
- 71 A Nu-Tool 6" Bench Grinder And Tool Box With Contents £10.00 - £20.00
- 72 A 1960's Kitchen cupboard £10.00 £20.00
- 73 2 Tool Boxes And Contents £10.00 £20.00
- 74 A Kirby Cleaner £10.00 £20.00
- 75 A Large Wooden Chest £10.00 £20.00
- 76 A quantity of cushions mainly new £10.00 £20.00
- 77 A Green 3 Seater Settee £10.00 £20.00
- 78 A Wooden Garden Bench With Plaque £10.00 £20.00
- 79 A Heavy Duty 4 Wheeled Trolley And A Dalek 'Step' £10.00 - £20.00
- 80 A Yellow Filing Cabinet £10.00 £20.00
- 81 A 3 Drawer Bedroom Chest £10.00 £20.00
- 82 New In Packaging Tool Master 12 Step Folding Ladder And A Platform £10.00 - £20.00
- 83 A 3 Step ladder £10.00 £20.00
- 84 2 Electric Portable Heaters £10.00 £20.00
- 85 A Quantity Of Lurpack Egg Cups, Butter Dishes And Toast Racks £10.00 - £20.00
- 86 A Shelf Of Misc. Inc Framed And Glazed Embroidery Of Cats Etc. £10.00 - £20.00
- 87 Quantity Of New Tea Towels, Tablecloth Etc. £10.00 - £20.00
- 88 A Brother Sewing Machine £10.00 £20.00
- 89 5 Shelves Of Misc Inc. A New In Box Vax Steam

Cleaner Etc. £10.00 - £20.00

- 90 A Collection Of Advertising Ashtrays £10.00 -£20.00
- 91 A Good Lot Of Mugs Etc. Inc. Cadburys, KitKat, Kellogs Etc. £10.00 - £20.00
- 92 2 Tall Metal Display Cabinets With Glass Doors £10.00 - £20.00
- 93 A Conservatory Chair £10.00 £20.00
- 94 A Pressure Washer £10.00 £20.00
- 95 2 Cream Bedside Cabinets £10.00 £20.00
- 96 A 22 Piece Vintage Tea Set And A 16 Piece Tea Set £10.00 - £20.00
- 97 A 3 Piece Conservatory Suite £10.00 £20.00
- 98 2 Conservatory Chairs £10.00 £20.00
- 99 A Free Rider Mobility Scooter (Needs New Battery) £10.00 £20.00
- 100 A 4 Drawer Filing Cabinet £10.00 £20.00
- 101 A Bosch Dish Washer £10.00 £20.00
- 102 A Hotpoint Washing Machine £10.00 £20.00
- 103 A Fridge Freezer £10.00 £20.00
- 104 An Indesit Tumble Dryer £10.00 £20.00
- 105 A Hotpoint Washing Machine £10.00 £20.00
- 106 A Beko Fridge £10.00 £20.00
- 107 A Beko Freezer £10.00 £20.00
- 108 A Beko Washing Machine £10.00 £20.00
- 109 4 Garden Lamps £10.00 £20.00
- 110 A Glass Topped Steel Framed Table And 6 Chairs. (Ideal For The Garden) £10.00 - £20.00
- 111 A Dartboard £10.00 £20.00
- 112 A Trough Belfast Style Sink £10.00 £20.00
- 113 A Twyfords Belfast Style Sink £10.00 £20.00
- 114 A Kerosene Diesel Space Heater (Working) £10.00 - £20.00
- 115 A Quantity Of Ladders £10.00 £20.00
- 116 A Birdbath And 1 Other £10.00 £20.00
- 117 A Good Victorian Chimney Pot A/F £10.00 -£20.00
- 118 A Quantity Of Rope, Scaffold Clamps, Builders Membrane Etc. £10.00 - £20.00
- 119 2 Stained Glass Windows £10.00 £20.00
- 120 Flymo Turbo Vision Lawnmower £10.00 £20.00
- 121 A 4 Drawer Filing Cabinet £10.00 £20.00
- 122 A Sack Barrow £10.00 £20.00
- 123 2 Saddlestones £10.00 £20.00
- 124 A Step ladder £10.00 £20.00
- 125 A Garden Water Feature £10.00 £20.00
- 126 An Al-Ko Electric Mulcher £15.00 £20.00
- 127 A 4 Wheel Trolley £10.00 £20.00
- 128 A Cast Iron Ended Garden Bench £10.00 £20.00

- 129 A Quantity Of Pick Axes, Spades Etc. £10.00 -£20.00
- 130 A Garden Birdbath Featuring Cherubs £10.00 £20.00
- 130A A double mattress £10.00 £15.00
- 130B A single mattress £8.00 £12.00
- 130C A pine 3 drawer chest of drawers £15.00 £25.00
- 130D 3 pine bedsides £20.00 £30.00
- 130E A large set of shelves £10.00 £20.00
- 130F A Qualcast mower £20.00 £30.00
- 131 A Large Quantity Of Drain Pods And Chimney Sweep Heads £10.00 - £20.00
- 132 3 Sets Of Ladders, Gravity Randall, Duraflex And A 2 Piece ASL Air Flow £10.00 - £20.00
- 133 A Pine Framed Mirror £10.00 £20.00
- 134 A Large Mirror £10.00 £20.00
- 135 A Cast Iron Bench With Wooden Seat £10.00 -£20.00
- Haytrette Petrol Lawn Mower And A Husqvarna 323RJ Petrol Strimmer £10.00 - £20.00
- 137 7 Metal Chairs With Leather Seats And Backs £10.00 - £20.00
- 138 A Large Pine Mirror £10.00 £20.00
- 139 A Concrete Bench With Supports Decorated With Squirrels £10.00 - £20.00
- 140 2 Concrete Planters Shaped Like Sacks £10.00 -£20.00
- 140A A Pair Of Shabby Chic Chairs 1 A/F £10.00 £20.00
- 140B A pine table £10.00 £20.00
- 140C A 6 drawer chest of drawers £10.00 £20.00
- 140D A 4 drawer bureau £10.00 £20.00
- 140E A Victorian mahogany glazed top cupboard bookcase £10.00 - £20.00
- 140F An L E D tree £10.00 £20.00
- 140G A Raleigh Connoisseur bicycle £10.00 £20.00
- 140H A mahogany 4 door glazed top corner cupboard £10.00 £20.00
- 140J A large bureau bookcase £10.00 £20.00
- 140K A painted fire surround. £10.00 £20.00
- 140L A garden statue. £10.00 £20.00
- 140M 5 Chairs £10.00 £20.00
- 140N A 2 seater settee £10.00 £20.00
- 140P A cream electric reclining chair £10.00 £20.00
- 140Q A pine chest £10.00 £20.00
- 140R An Apollo bike A/F £10.00 £20.00
- 140S A large wall unit £10.00 £20.00
- 140T A wall unit £10.00 £20.00
- 140U A sideboard £10.00 £20.00

- 140V A double bed base only £10.00 £20.00
- 140W A double base case £10.00 £20.00
- 140X A large box of linen £10.00 £20.00
- 140Y A retro HMV solid state stereogram £20.00 -£30.00
- 140Z A quantity of railwayana plates and pottery tankards £10.00 £20.00
- 141 2 Mayan Urn Garden Planters With Aztec Design £10.00 - £20.00
- 142 A Double Bed And Mattress £10.00 £20.00
- 143 2 Large CD Racks £10.00 £20.00
- 144 A Belfast Style Sink £10.00 £20.00
- 145 A Concrete Mixer £10.00 £20.00
- 146 A Quantity Of Ladders £10.00 £20.00
- 147 A Double Bed And Headboard £10.00 £20.00
- 148 A Double Bed £10.00 £20.00
- 149 Approximately 44 chairs £10.00 £20.00
- 150 A TV/DVD cabinet £10.00 £20.00
- 150A A quantity of breweriana advertising barrels £10.00 - £20.00
- 150B A quantity of vintage tapes £10.00 £20.00
- 150C A quantity of china animals and other animals including Wade £10.00 £20.00
- 150D A quantity of railwayana plates and pottery tankards £10.00 £20.00
- 150E A collection of metal, porcelain and glass hand bells £10.00 - £20.00
- 150F A quantity of copper and brass £10.00 £20.00
- 150G A 2 door wardrobe
- 150H A large quantity of framed and glazed pictures £10.00 - £20.00
- 150J 2 boxes of picture frames etc. (some new) £10.00 £20.00
- 150K A quantity of dishes and glasses depicting old cars £10.00 - £20.00
- 150L An old wall clock £10.00 £20.00
- 150M A box of optics etc. £10.00 £20.00
- 150N A box of shoes etc £10.00 £20.00
- 150P A quantity of framed and glazed pictures £10.00 £20.00
- 150Q A quantity of pictures (modern art) £10.00 £20.00
- 150R A darkwood dresser £10.00 £20.00
- 150S A 3 seater suite and pouffe £20.00 £40.00
- 150T Approximate 40 chairs £10.00 £20.00
- 150U A quantity of miscellaneous including Nintendo DS Lite, electronic Suduko same, new hairdryers, irons etc. £10.00 - £20.00
- 150V No Lot
- 150W No Lot
- 150X A mirror topped set of pine drawers £20.00 £30.00

- 150Y A small drop leaf table £10.00 £20.00
- 150Z A double mattress
- 151 A framed and glazed embroidered panel. £10.00 £20.00
- 152 A turquoise art glass vase. £10.00 £20.00
- 153 A mahogany commode with liner. £10.00 £20.00
- 154 A quantity of Carlton ware salad dishes. £10.00 £20.00
- 155 A framed and glazed engraving. £10.00 £20.00
- 156 A blue and white jug and basin set. £10.00 £20.00
- 157 A quantity of cigarette cards. £10.00 £20.00
- 158 A pottery wall plaque. £10.00 £20.00
- 159 A green glass lemonade set. £10.00 £20.00
- 160 A large quantity of boxed Matchbox die cast models. £30.00 - £50.00
- 161 A framed Jameson's whisky advertising mirror. £20.00 - £30.00
- 162 A 38 piece Czechoslovakian china coffee set. £20.00 - £30.00
- 163 A quantity of old annuals. £20.00 £30.00
- 164 A blue art glass centrepiece. £15.00 £20.00
- 165 An inlaid pot cupboard. £10.00 £20.00
- 166 A quantity of photographic equipment, £10.00 £20.00
- 167 A quantity of collector's spoons in cabinet and on rack. £10.00 £20.00
- 168 2 Hornsea pottery jugs and 2 dog figures. £10.00 -£20.00
- 169 A cased Royal Albert coffee set. £20.00 £30.00
- 170 A 3 piece crocodile garden ornament. £10.00 -£20.00
- 171 A peacock garden ornament. £10.00 £20.00
- 172 A pair of pottery wall sconces. £10.00 £20.00
- 173 A gilt framed oil on board painting. £15.00 £20.00
- 174 A quantity of advertising glasses. £10.00 £20.00
- 175 A quantity of collector's plates and figures etc., £10.00 - £20.00
- 176 A framed and glazed romantic print,. £10.00 £20.00
- 177 2 boxed busts of George Washington and Abraham Lincoln. £10.00 - £20.00
- 178 2 framed and glazed religious prints and 2 figures.£10.00 £20.00
- 179 2 Artist's easels. £10.00 £20.00
- 180 A portable typewriter. £10.00 £20.00
- 181 A retro ballerina comport and a retro ballerina cigarette dispenser. £20.00 £30.00
- 182 A gilded coffee set. £10.00 £20.00
- 183 A quantity of ink bottles and 2 old bottles. £10.00 -

£20.00

- 184 A quantity of Toby jugs. £10.00 £20.00
- 185 2 albums of stamps. £10.00 £20.00
- 186 A Beefeater gin advertising mirror. £20.00 £30.00
- 187 A box of assorted photographic equipment. £10.00 - £20.00
- 188 A German pottery vase. £10.00 £20.00
- 189 A wooden vase and 2 other wooden items. £10.00 £20.00
- 190 A Blue Nun framed and glazed advert. £10.00 £20.00
- 191 A quantity of costume dolls. £10.00 £20.00
- 192 A framed and glazed seascape print. £10.00 £20.00
- 193 4 Staffordshire figures. £10.00 £20.00
- 194 A quantity of old bottles. £10.00 £20.00
- 195 A quantity of tea cards. £10.00 £20.00
- 196 2 art glass bowls. £10.00 £20.00
- 197 2 Shorter Toby jugs. £10.00 £20.00
- 198 A 2 drawer coffee table. £10.00 £20.00
- 199 A quantity of Denby pottery. £10.00 £20.00
- 200 A quantity of storage ware. £10.00 £20.00
- 201 A Remington typewriter. £10.00 £20.00
- 202 2 boxed meercats. £10.00 £20.00
- 203 A brass fender and a set of brass fire irons. £20.00 - £30.00
- 204 2 old cutlery boxes. £10.00 £20.00
- 205 3 framed and glazed cat print. £10.00 £20.00
- 206 3 sea bird figures. £10.00 £20.00
- 207 A decorative vase. £10.00 £20.00
- 208 A cased pair of binoculars. £10.00 £20.00
- 209 A folding cake stand. £10.00 £20.00
- 210 A carved stone elephant. £20.00 £30.00
- 211 A pair of large Italian ceramic parrots. £40.00 £60.00
- 212 A quantity of military themed collectables. £10.00 £20.00
- 213 A large quantity of spirit miniatures. £10.00 £20.00
- 214 A replica carved tusk (probably resin). £10.00 £20.00
- 215 A box of sheet music, £10.00 £20.00
- 216 A box of LP records. £10.00 £20.00
- 217 4 garden squirrel figures. £20.00 £30.00
- 218 A watering can and a large bottle full of fir cones. £10.00 - £20.00
- 219 2 boxes of stoneware, glass bottles etc., £10.00 £20.00
- 220 3 camera tripods. £10.00 £20.00

- 221 A large box of tins. £10.00 £20.00
- A mixed lot of toys and games. £10.00 £20.00
- 223 A box of books. £5.00 £10.00
- 224 A box of 'Transformers in disguise' toys. £10.00 -£20.00
- 225 A record player and records. £10.00 £20.00
- 226 A box of Lego. £10.00 £20.00
- 227 2 boxes of belts, bags etc., £10.00 £20.00
- 228 2 cases of vintage clothes, shoes etc., £10.00 £20.00
- 229 A collection of vintage clothes, shoes etc £10.00 £20.00
- 230 A shelf of pottery items inclduing Sylvac fish sauce bowl £10.00 £20.00
- 231 A 5 piece trinket and candelabra set and 5 assorted frames etc £10.00 £20.00
- 232 A collection of stoneware and bottles including B Cunnigham Warrington £10.00 - £20.00
- 233 A collection of vintage cameras including Solar and Polaroid £10.00 - £20.00
- 234 A collection of matchboxes and beer mats £10.00 -£20.00
- 235 3 floral decorated stoneware ases and a large floral decorated vase £10.00 £20.00
- 236 A collection of vintage linen tablecoths etc from The Gaza £10.00 - £20.00
- 237 2 Zeiss Ikon 'Compur' cameras and one case, untested £30.00 - £50.00
- 238 Vintage tools and weighing scales including spirit levels £10.00 £20.00
- 239 4 door stops including cast iron examples and Toby Bitter example £10.00 - £20.00
- 240 4 vintage cameras including Polaroid £10.00 -£15.00
- 241 A 4 piece silverplate tea & coffee se £10.00 £20.00
- 242 A Lladro ballerina and 6 NAO figurines including large mermaid £30.00 £40.00
- 243 A good lot of cabinet plates £10.00 £20.00
- 244 3 red glass vases and 4 champagne flutes with part red coloured stems £10.00 - £20.00
- 245 A carved wood elephant being attacked by tigers £15.00 £20.00
- 246 A collection stoneware jars, pots etc £10.00 £20.00
- 247 4 bottles of red wine £10.00 £20.00
- 248 A Murano glass clown £8.00 £12.00
- 249 A figural lamp featuring a cherub and a glass tulip style shade £10.00 £20.00
- 250 A large selection of mantel and smaller clocks £10.00 - £20.00
- 251 A large selection of vintage and other

handkerchiefs £10.00 - £20.00

- 252 Vintage games including 3 cribbage boards, marbles etc £10.00 - £20.00
- A quantity of vintage tools, old fishing reels etc £10.00 £20.00
- 254 A box of tea cards etc £10.00 £20.00
- 255 Glassware and crystal including 11 crystal wine glasses, decanter, items of Val St Lambert and boxed Holmegaard flutes £20.00 - £30.00
- 256 A good quality Bohemian overlaid glass lidded bow £30.00 £40.00
- 257 20 pieces of Royal Doulton Tapestry teaware £10.00 - £20.00
- 258 A Kundo carriage clock £10.00 £20.00
- 259 A collection of Wedgwood blue and other jasperware (approx 15 pieces) £15.00 - £25.00
- 260 2 shelves of kitchen items and kitchanlia £10.00 £20.00
- 261 A Colclough Hedgerow tea and dessert set (approx 40 items including teapot) £15.00 - £25.00
- A mixed lot of silver plate items £30.00 £40.00
- 263 A collection of vintage sewing items, patterns etc £20.00 - £30.00
- A box of play worn die-cat £10.00 £20.00
- 265 A Frank Stewart oak mantel clock £10.00 £20.00
- 266 A box of vintage wooden toys and other toys £10.00 - £20.00
- 267 A quantity of old lego and sets £10.00 £20.00
- 268 A collection of costume jewellery and stands etc £15.00 £25.00
- 269 8 carriage clocks £15.00 £25.00
- 270 A Zeiss Ikon 'Prontor' SVS camera and a Zeiss Ikon 'Velio' camera, both with cases, untested £30.00 - £50.00
- A Britsol tea set for one, a Poole hors d'ouevres dish and silverplate flower with removable petals £10.00 - £20.00
- 272 2 trays of trains etc £20.00 £30.00
- 273 A collection of vintage linen etc £10.00 £20.00
- 274 A Victorian brass Corinthian column oil lamp base with pink glass font, gallery a/f and no shade or chimney £20.00 - £30.00
- 275 Two figural jewellery stands and collection of costume necklaces and bracelets £10.00 £20.00
- 276 A Capo-di-monte cherub wall plaque £10.00 -£15.00
- 277 A quantity of glass and crystal animals and items £10.00 - £20.00
- 278 A collection of crested china items £10.00 £20.00
- 279 A mixed lot of die-cast, Subbuteo items and books £10.00 £20.00
- 280 Vintage glassware including vanity sets, boxed

sets etc £10.00 - £20.00

- 281 A box of postcards £10.00 £20.00
- 282 A collection of tea cards etc £10.00 £20.00
- 283 5 assorted lampshades £10.00 £20.00
- 284 Two part coffee stes including Pontessa £10.00 £20.00
- 285 A good collection of boxes including treen examples and two ornate framesetc £15.00 -£25.00
- 286 A cased Ricohmatic 225 camera and a cased Photina reflex camera, untested £20.00 - £30.00
- 287 14 old glass bottles including Lincoln related £30.00 - £40.00
- 288 A box of wool, old sewing reels and items etc and a box of buttons £10.00 £20.00
- 289 A collection of Ladybird books including Tootles the Taxi £10.00 - £20.00
- 290 An album of First Day Covers £10.00 £20.00
- 291 A small collection of British comics including JAG, The Hornet, Hotspur etc mainly late 1960s/1970 £10.00 - £20.00
- 292 A boxed Cowley Level £10.00 £20.00
- 293 A squirrel nutcracker a/f £10.00 £20.00
- 294 A quantity of pearls and simulated pearls £10.00 £20.00
- 295 A good selection of gentlemens wrist watches including Gucci, Longines and 1 marked Z.F. I.H. £50.00 - £60.00
- 296 A large quantity of copper and other coins £10.00 -£20.00
- 297 6 Robertson Golly band figures and 3 Chimese figures £10.00 £20.00
- 298 A collection of compacts including Stratton £10.00 - £20.00
- 299 A quantity of glass scent bottles, some with silver tops and other glassware and perfurme bottles £10.00 - £20.00
- 300 2 boxes of mainly costume jewellery necklaces £10.00 £20.00
- 301 A boxed vintage View-master stereoscope £10.00 -£20.00
- 302 A collection of Wade Disney figures £10.00 £20.00
- 303 4 bone desk items and Battle of Britian shrapnel desk paper knife £10.00 £20.00
- 304 6 framed handpainted miniatures of views of England in brass frames £20.00 - £30.00
- 305 A mixed lot of jewellery including opera length necklace £10.00 £20.00
- 306 5 small bibles and a bible stamp book £10.00 £20.00
- 307 2 jade necklaces £20.00 £40.00

- 308 A cased Norlux 8 x 30 monocular £10.00 £20.00
- 309 A mixed lot of yellow metal jewellery, earrings etc £10.00 - £20.00
- 310 A mixed lot of vintage brooches £10.00 £20.00
- 311 An old early Delft tile £10.00 £20.00
- 312 3 vintage scarves including two by Christian Dior and one by Courrages Paris £10.00 - £20.00
- 313 A mixed lot of including Scheafer pens, wrist watches, sewing hems etc £15.00 £25.00
- 314 A box of stamps, First Day Covers etc £10.00 £20.00
- 315 A quantity of old inkwells and bottles £10.00 £20.00
- 316 An Edwardian free standing bevel edged mirror in ornate brass frame £15.00 £25.00
- 317 An interesting collection of jewellery, frames, sewing items etc £10.00 £20.00
- 318 An old plus shaped frame with 8 photo/picture compartments each with an early picture of a comical figure £15.00 £25.00
- 319 A good selection of costume jewellery including pocket watch and a Chinese laquered jewellery cabinet £20.00 - £30.00
- A collection of commemorative and boxed coin sets (mostly unopened) with curreny value of over £250 £250.00 - £350.00
- 321 An album of Liebig Chromos card £20.00 £30.00
- 322 An unusual paperweight featuring central ball with Chinese dragon scene £10.00 - £20.00
- 323 3 old jewellery boxes £10.00 £20.00
- 324 An album of Liebig Chromos card £20.00 £30.00
- 325 3 Vittorio Sabadin clown figures £10.00 £20.00
- 326 A Royal Worcester blue tits model £10.00 £20.00
- 327 5 Wade NatWest pigs including a white colourway of Father Pig £20.00 £30.00
- 328 A collection of bird figurines including Country Artists and Border Fine Art including Kingfisher with Yellow Fringed Waterlily £10.00 - £20.00
- 329 An Aug. Schatz & Sohne brass carriage clock £10.00 - £20.00
- 330 A hand decorated glass comport £20.00 £30.00
- 331 A small gilt metal clock surmounted cherub, not working £15.00 £20.00
- 332 A large Anita Harris art pottery bowl with spiral pattern together with a signed Alan Clarke vase £25.00 £35.00
- 333 A pair of cane conservatory arm chairs £10.00 -£20.00
- 334 2 Chinese vases and an oriental figure £10.00 £20.00
- 335 A large framed and glazed needlepoint of a stag £10.00 £20.00

- 336 An old straw filled teddy bear (1 arm detached) and 2 old dolls £15.00 - £25.00
- An ambienete zwiesel glass vase, a decanter and6 matching glasses £10.00 £20.00
- 338 7 bottle of red wine £15.00 £25.00
- 339 A CarltonWare Australian design part tea set £10.00 £20.00
- 340 A collection of old annuals including early Beano £10.00 - £20.00
- 341 A pair of Victorian carriage lamps £20.00 £30.00
- 342 A Bush music centre with speakers £10.00 £20.00
- 343 2 Chinese vases £10.00 £20.00
- 344 A Victorian floral painting on glass and 1 other £10.00 - £20.00
- 345 2 good quality cut glass decanters, and a wine label £15.00 £25.00
- 346 3 boxed digital cameras £10.00 £20.00
- 347 A pan stand and pans £10.00 £20.00
- 348 3 British Trees, Shrubs and Bird books £10.00 £20.00
- 349 A shield shapped mirror and one other mirror £10.00 £20.00
- 350 A pair of Victorian brass fire dogs £20.00 £30.00
- 351 An 8mm movie titlery negative viewer and a Photax print dryer £10.00 £20.00
- 352 A quantity of new sheets etc most still new and wrapped £20.00 £30.00
- 353 A framed Coca Cola advertising mirror £20.00 -£30.00
- 354 A red telephone box phone and a post box table lamp £10.00 £20.00
- 355 A Japanese continental style tea set £10.00 -£20.00
- 356 4 Shorter Toby Jugs £10.00 £20.00
- 357 An interesting collection of bakelite and early plastic items £10.00 £20.00
- 358 A collection of miniature Toby Jugs £20.00 £30.00
- 359 Two replica flintlock pistols £10.00 £20.00
- 360 Two old suitcases £10.00 £20.00
- 361 A framed and glazed rural scene watercolour signed J G Sykes £20.00 £30.00
- 362 A good quality silver plated tray by Rawleigh and a plated bread board and 1 other £10.00 £20.00
- 363 A quantity of interesting tins etc £10.00 £20.00
- 364 A large frramed oval mirror £10.00 £20.00
- 365 A pair of Japanese vases £10.00 £20.00
- 366 Two framed and glazed prints including Roy Fisk £10.00 £20.00
- 367 A quantity of Nescafe cups, coffee pots, collectables etc £10.00 £20.00

- 368 A new and boxed Hozelock Cyprio Aquaforce Filter and Water Pump £20.00 - £30.00
- 369 A large quantity of Midwinter tea and dinner ware £20.00 £30.00
- 370 A good painted wooden chest £10.00 £20.00
- 371 A framed and glazed print of the Carol Singers by Dodgson £10.00 - £20.00
- 372 Taxidermy buffalo horns £15.00 £20.00
- A limited edition Dragonfly Opening Lit Orb £20.00£30.00
- 374 A Crosse and Blackwell advertising mirror £10.00 £20.00
- 375 Victorian taxidermy a Woodcock £10.00 £20.00
- 376 A framed and glazed 'English Football Legends Through the Ages' personally signed by Sir Tom Finney and Mat Lofthouse £20.00 - £30.00
- 377 A French art deco marble clock surmounted stag (battery movement) £20.00 - £30.00
- 378 A large collection of Clover Disney butter dishes and Anchor butter dishes etc £10.00 - £20.00
- 379 A black ceramic rifle £10.00 £20.00
- 380 A stone garden figure of a young girl £15.00 £25.00
- 381 A blue glass and metal oil lamp base with Grecian scene £10.00 £20.00
- A Japanese charger, a plate and a dish, a/f £30.00
  £40.00
- 383 2 pairs of brass candlesticks £10.00 £20.00
- 384 A quantity of LPs and singles £10.00 £20.00
- 385 A small wooden stool £10.00 £20.00
- 386 A box containing old games, marbles etc £15.00 £25.00
- 387 A Yashica Cine camera, a Bell & Howell Autoload
  Cine camera, handle grip lens hoods etc £10.00 £20.00
- 388 A mahogany slate bed snooker table with cues and balls £50.00 - £60.00
- 389 A Royal Albert tea and dinner set £10.00 £20.00
- 390 A Sunflower Picture £10.00 £20.00
- 391 A Decorative Cupboard £10.00 £20.00
- 4 Items Of Rington's, 2 Biscuit barrels, Jug And A Bowl £15.00 - £20.00
- 393 Inlaid Edwardian Nursing Chair £10.00 £20.00
- A Royal Scrapbook, Scrapbook Of Scunthorpe United And 1940's Issues Of Illustrated Picture Post Etc. £10.00 - £20.00
- 395 A Crown Staffordshire Porcelain Dinner Set £10.00 - £20.00
- 396 19C Regal Melodian Squeezebox Accordion £10.00 - £20.00
- 397 A Shell Collage In Oval Lacquered Frame With Domed Glass £10.00 - £20.00

- 398 Quantity Of Art Glass Bowls £10.00 £20.00
- 399 A Hans Pewter Plaque, Tankard And Silver Plated Cake Stand £10.00 - £20.00
- 400 A Kenwood Music Centre In cabinet £10.00 -£20.00
- 401 A Large Brass Pig Money Box £10.00 £20.00
- 402 A Large Painted Metal Framed Flamingo £10.00 £20.00
- 403 An LG Music System £10.00 £20.00
- 404 A Good Collection Of Wade Pintrays/Ashtrays (Some Rare Examples) £10.00 - £20.00
- 405 A Victorian Flo Blue Stick Stand £10.00 £20.00
- 406 A Quantity Of cameras £10.00 £20.00
- 407 A 19C Pine Lecturn/School Desk £10.00 £20.00
- 408 2 Vintage Meakin Coffee Sets £10.00 £20.00
- 409 A Vintage TR K10638D Studio Microphone £10.00 - £20.00
- 410 3 Vintage Disney Pictures Of Mickey, Donald And Pluto £10.00 - £20.00
- 411 3 Advertising Bar Jugs And A Pestle And Mortar £10.00 - £20.00
- 412 A Pine Kitchen Table And 2 Chairs £10.00 £20.00
- 413 Quantity Of Melba, Shane & Coggins Porcelain Teaware £10.00 - £20.00
- 414 3 Novelty Dog 'The Last Shot' Decanters £10.00 -£20.00
- 415 A Round Glass Top Bamboo Coffee table £10.00 -£20.00
- 416 An Interesting Collection Of !940's/50's Football Books Etc. £10.00 - £20.00
- 417 A Collection Of Coloured Glass Vases, Bowls Etc. £10.00 - £20.00
- 418 A Morphy Richards Pump Action Espresso Coffee Maker. As New £10.00 - £20.00
- 419 A Dark Brown Leather Office Chair £10.00 £20.00
- 420 A Quantity Of Matching Carlton Ware Dishes £10.00 - £20.00
- 421 A Classical Style Glass Top Table And A Roman Bust £10.00 - £20.00
- 422 A Pair Of Victorian Brass Candlesticks, Inkwells And Oak Mantle Clock £10.00 - £20.00
- 423 A First Aid Box And Contents £10.00 £20.00
- 424 3 Old Porch Lamps £20.00 £30.00
- 425 A Bathroom Linen Box/Seat And 1 Other £10.00 -£20.00
- 426 A Quantity Of Vintage Toys £20.00 £30.00
- 427 An Edwardian Fire Curb/Fender £10.00 £20.00
- 428 An Alba Stereo System £10.00 £20.00
- 429 A Leather Pouffe £10.00 £20.00
- 430 A Vintage Cutlery Tray, Brief Case Etc. £10.00 £20.00

- 430A A 1930's oak drop leaf table with tapered legs £10.00 - £20.00
- 430B A darkwood stained oval dining table and chairs £10.00 £20.00
- 431 A Barbecue (New In Box) £10.00 £20.00
- 432 A Vintage Commode £10.00 £20.00
- 433 A Deco 5 Drawer Chest £10.00 £20.00
- 434 A Pair Of Cranberry Vases, 3 Handercheif Bowls And An Art Glass Bowl £10.00 - £20.00
- 435 A Black Ash Office Bureau £10.00 £20.00
- 436 A Sony 40" Television £10.00 £20.00
- 437 A Light Oak Desk £10.00 £20.00
- 438 A Quantity Of Mostly New Picture Frames £10.00 -£20.00
- 439 A Brass Swivel Mantle Clock And A Smiths Clock £10.00 - £20.00
- 440 2 Light Wood Effect Chest Of Drawers £10.00 £20.00
- 441 A Victorian Jug And Bowl Set £10.00 £20.00
- 442 A Bar Stool £10.00 £20.00
- 443 A Coffee Table £10.00 £20.00
- 444 A Quantity Of Homepride Figures Etc. £10.00 £20.00
- 445 A Quantity Of Tetley Tea Collectables £10.00 -£20.00
- 446 A large Oriental Lidded Urn £40.00 £50.00
- 447 A Quantity Of Preserve Pots, Inc. Carlton Ware £10.00 - £20.00
- 448 White Finished Bedroom Furniture £10.00 £20.00
- 449 A Pair Of Lamps £10.00 £20.00
- 450 A Pine 3 Draw Chest Of Drawers £10.00 £20.00
- 451 A Darkwood Stained Bureau £10.00 £20.00
- 452 A Bush 40" LED Television And Television Cabinet £10.00 - £20.00
- 453 3 Blue And White Items, Umbrella Stand, Bread Bin And Biscuit Barrel £10.00 - £20.00
- 454 2 Ships In Bottles And A Water Barometer £10.00 - £20.00
- 455 A Quantity Of Silver Plate Etc. £10.00 £20.00
- 456 Pottery Vases And A Figure £10.00 £20.00
- 457 2 Chrome And Glass Water Features £10.00 -£20.00
- 458 A Black Glazed Adderley Floral & Aynsley Tea Cups And Saucers £10.00 - £20.00
- 459 A Canteen Of Cutlery And Contents And A Canteen Box £10.00 - £20.00
- 460 A Good Large Picnic Hamper And Contents £10.00 - £20.00
- 461 Large Quantity Of Meakin Studio Tea And Dinnerware £10.00 - £20.00
- 462 Carlton Ware Pig Book Ends And A Quantity Of

Toast Racks £10.00 - £20.00

- 463 A Re-upholstered Dining/bedroom Chair £10.00 £20.00
- 464 5 Cut Glass Decanters £10.00 £20.00
- 465 A Glazed Corner Cupboard £10.00 £20.00
- 466 4 Carlton Ware And 1 Beswick Pottery Leaf Dishes £10.00 - £20.00
- 467 A Boxed Maxim Football TV With Am/FM Radio £10.00 - £20.00
- 468 2 Hand Painted Spode Plates Of Pintail And Lapwing By E. Ellis And J. Woby £20.00 - £30.00
- 469 A Mahogany Octagonal Occassional Table £10.00 - £20.00
- 470 A Quantity Of Cameras Etc. £10.00 £20.00
- 471 A Collection Of Annuals Inc. Early Beano £10.00 £20.00
- 472 A Murano Glass Figure £10.00 £20.00
- 473 A Wooden Chest £10.00 £20.00
- 474 A Victorian Commode (No Liner) £10.00 £20.00
- 475 Italian 1940 Francescon Modello Piano Accordian
  With Case (Needs Cosmetic Attention) £20.00 £30.00
- 476 3 Large Stoneware Flagons £10.00 £20.00
- 477 A Chrome Standard Lamp £10.00 £20.00
- 478 An Edwardian Tea Trolley £10.00 £20.00
- 479 Quantity Of Shells And A Shell Lamp £10.00 £20.00
- 480 A 1950's Oak Drop Leaf Dining Table £10.00 £20.00
- 480A A Victorian mahogany pembroke table £10.00 £20.00
- 481 A Quantity Of Old Books Inc Punch 1886, 1863 £10.00 - £20.00
- 482 A 1930's Oak Bureau £10.00 £20.00
- 483 A Set Of 4 Edwardian Upholstered Dining Chairs £10.00 - £20.00
- 484 A Teak Bureau £10.00 £20.00
- 485 A Stradivarius Copy Violin In Case (No Bow) £10.00 - £20.00
- 486 An 18 Piece Shelley Woodlands Tea Set £10.00 -£20.00
- 487 Pine Chest Of Drawers £10.00 £20.00
- 488 Decorative Wall Unit/Sideboard £10.00 £20.00
- 489 A Mahogany Effect Bookcase £10.00 £20.00
- 490 A Modern Commode (Unlined) £10.00 £20.00
- 491 A Glass Topped Coffee Table £10.00 £20.00
- 492 A 21 Piece Queen Anne Tea Set £10.00 £20.00
- 493 2 Standard Uplighters £10.00 £20.00
- 494 2 Seater Settee £10.00 £20.00
- 495 A Dark Wood Side Table £10.00 £20.00

- 496 A Hohner Accoustic Guitar With Case (Stand Not Included) £10.00 - £20.00
- 497 A Glass And Metal Coffee Table £10.00 £20.00
- 498 A Collection Of Books Inc. Reference £10.00 £20.00
- 499 A Very Large Collection Of Pyrex Dishes £30.00 -£40.00
- 500 A Good Pine Table And 4 Chairs £10.00 £20.00
- 501 A Quantity Of Ringtons China, Inc. Cup & Saucer Sets Etc. £10.00 - £20.00
- 502 A Quantity Of Books £10.00 £20.00
- 503 A Good Collection Of Prinknash Pottery £10.00 £20.00
- 504 Victorian Brass Fire Dogs £10.00 £20.00
- 505 Quantity Of Wade Items Etc, Inc. Teapots £10.00 £20.00
- 506 2 Bookcases £10.00 £20.00
- 507 A Teak Deep Buttoned Bedroom Stool £10.00 -£20.00
- 508 A n Oak Tea Trolley £10.00 £20.00
- 509 Large Rail And 2 Boxes Of Clothes (Some Vintage) Rail Not Included £10.00 - £20.00
- 510 Cue Craft Cue With Cue Craft Case (Baron England) £10.00 - £20.00
- 511 Large Quantity Of Nescafe Collectable Coffee Mugs And Cups And Saucers £10.00 - £20.00
- 512 A Collection Of Retro Hornsea Striped Kitchen Storage Jars, A Meaking Teapot Etc. £10.00 -£20.00
- 513 Old Victorian Photo Album Etc. £10.00 £20.00
- 514 Shelf Of Brassware Inc. Balance Scales Etc. £10.00 - £20.00
- 515 A Collection Of Coca Cola Glasses Etc. £10.00 -£20.00
- 516 Quantity Of Cheese/Butter Dishes £10.00 £20.00
- 517 A mixed lot of books including The Story of London Observer book of common fungi £10.00 -£20.00
- 518 A quantity of brass items including fire dog rests £10.00 - £20.00
- 519 A shabby chic painted satin walnut chest of drawers £10.00 £20.00
- 520 A vintage meakin tea set and a part tea set £10.00 - £20.00
- 521 A quantity of mainly new photo albums £10.00 £20.00
- 522 A fur coat £10.00 £20.00
- 523 A mahogany inlaid wardrobe £10.00 £20.00
- 524 An oak corner cabinet with mirrored back £10.00 £20.00
- 525 3 pictures £10.00 £20.00
- 526 A good modern bedroom unit. £10.00 £20.00

- 527 A large quantity of lamp shades £10.00 £20.00
- 528 2 Babycham ashtrays and a Sylvac style rabbit £10.00 - £20.00
- 529 A Denby planter and 1 other £10.00 £20.00
- 530 A tribal shield and club £10.00 £20.00
- 531 3 Bosson's ivorex plaques, Lincoln cathedral etc., £10.00 - £20.00
- 532 A retro biscuit barrel and continental wood figures etc. £10.00 - £20.00
- 533 A mixed lot including Doulton jug & biscuit barrel etc. (some A/F) £10.00 - £20.00
- 534 A darkwood stained corner cupboard with astragal glazed door £10.00 £20.00
- 535 A modern long case clock, door a/f. £10.00 -£20.00
- 536 A Liverpool F.C. clock £10.00 £20.00
- 537 A vintage red telephone £10.00 £20.00
- 538 A decorative pot cupboard £10.00 £20.00
- 539 A glazed corner cabinet £10.00 £20.00
- 540 3 pub mirrors including Martini and Southern Comfort and a tiger embroidery £10.00 - £20.00
- 541 An ox skull with eagle surmounted on front. £10.00 - £20.00
- 542 A quantity of meerkat stuffed toys £10.00 £20.00
- 543 A collection of boxes including a traders coin box, a small weighing scale set etc. £10.00 £20.00
- 544 A quantity of childrens books £10.00 £20.00
- 545 A vintage wall unit £10.00 £20.00
- 546 A tall display cabinet with mirror back and 4 glass shelves £10.00 £20.00
- 547 A quantity of vintage kitchenware £10.00 £20.00
- 548 A good collection of childrens and other fiction including Biggies, Enid Blyton, Fleming (1st Edition book club You only Live Twice, do dust jacket) etc. £20.00 - £30.00
- 549 A quantity of boxed Wedgwood £10.00 £20.00
- 550 A vintage Austin Reed overcoat and an Austin Reed dinner suit £10.00 - £20.00
- 551 4 garden features of birds including Heron £10.00 £20.00
- 552 A Bucherer wall clock £10.00 £20.00
- 553 A 20th century flame veneered mahogany 'D' end chest of 12 drawers £10.00 £20.00
- 554 A collection of silver plate items including a retro tea set, candlesticks etc. £10.00 - £20.00
- 555 A framed oil on canvas painting £10.00 £20.00
- 556 4 vintage pictures by D.Golding £10.00 £20.00
- 557 A quantity of Hovis ceramic items £10.00 £20.00
- 558 A 5 drawer chest of drawers £10.00 £20.00
- 559 4 vintage school desks £10.00 £20.00
- 560 A decorative jardiniere that lights up £10.00 -

£20.00

- 560A 5 metal garden chairs £10.00 £20.00
- 560B 2 stick back carver chairs £10.00 £20.00
- 561 Approximately 34 pieces of a decorative tea set £10.00 £20.00
- 562 A darkwood dining table and 4 chairs £10.00 £20.00
- 563 A mixed lot including brush set mirror, carved oriental mask, a bust of a child on stand & a framed & glazed picture of a dog £10.00 - £20.00
- 564 A grey 3 seater settee and a matching 2 seater settee £10.00 £20.00
- 565 A set of 6 dining chairs £10.00 £20.00
- 566 A teak effect metamorphic tea trolley £10.00 £20.00
- 567 2 lampstands £10.00 £20.00
- 568 A 3 piece suite 2 seater sofa and 2 chairs £10.00 - £20.00
- 569 A large coffee table £10.00 £20.00
- 570 A retro tea set on tray. £10.00 £20.00
- 571 An art pottery tea set £10.00 £20.00
- 572 A pine cupboard £10.00 £20.00
- 573 2 inlaid bedroom chairs £10.00 £20.00
- 574 A period oak gate leg table. £10.00 £20.00
- 575 4 vintage party packs of Babycham (6 glasses per pack) £10.00 £20.00
- 576 2 green leather chairs £10.00 £20.00
- 577 A spinning wheel A/F £10.00 £20.00
- 578 A wrought iron modern art standard lamp £10.00 -£20.00
- 579 A John Deere 54 quick hitch blade snow plough for tractor £10.00 £20.00